
 

Nachbarzahlen 7 
 
 
1. Ergänze die Nachbarzahlen. 
 

Vorgängerzehner       

Zahl 7 501 5 542 1 628 5 410 5 428 6 754 

Nachfolgerzehner       
 
 

Vorgängerhunderter       

Zahl 5 458 2 657 3 157 2 068 1 257 2 459 

Nachfolgerhunderter       
 
 

Vorgängertausender       

Zahl 6 254 3 210 2 557 1 589 7 553 8 522 

Nachfolgertausender       
 
 
 
2. Rechne mit verwandten Aufgaben. 
 
 
     30 +      70 = ________       32 +      51 = ________ 

   300 +    700 = ________     320 +    510 = ________ 

3 000 + 7 000 = ________  3 200 + 5 100 = ________ 

 

 

 

 

 

     53 +      12 = ________  38 +      22 = ________ 

   530 +    120 = ________  380 +    220 = ________ 

5 300 + 1 200 = ________  3 800 + 2 200 = ________ 


